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1. List

2. Map

3. Set

4. Queue/Deque
5. Stack



ArrayList

transient elementData

‘ 2 I null \ 3 I 3 I 3 ‘ null I null \ null I null I null ‘

add(4, 3)

‘ 2 ‘ null I 3 I 3 I 3 I 3 ‘ null I null I null I null |




ArrayList<String> list = ArrayList<>()
list.add(

[ )

list.

list.
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( ' i < list.size(); i++) {
.equals(list.get(i))) {
list. remove( )

(String i : list) {
( .equals(i)) {
list.remove(1i)

}

Iterator<String> iterator = list.iterator()
(iterator.hasNext()) {
("3".equals(iterator.next())) {
iterator.remove()

}

}
System. .println(Arrays.toString(list.toArray()))




List<String> list = Collections.singletonlList(

list.add(



Vector
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Stack
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LLinkedList

prev prev prev prev prev

first l Node1 I Node2 I Node3 l last Null

next next next next next

Null
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Hashtable
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LinkedHashMap
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HashSet
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CopyOnWriteArrayList
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ConcurrentHashMap
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LinkedBlockingQueue

1.3C3 7 BlockingQueue 1=, £ Queue 1= L1800 7 FHEZERINE
2.95F%1F0%E + ReentrantLock



SparseArray

— mValues Object(] mmmm
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ArrayMap

— mHashes int[] key1.hashcode | key2.hashcode | key3.hashcode | key4.hashcode
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